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Solutions Mensuration SET-1

1.

(c) Given, length = 55m
Breadth = 45m
+——— 55 M ———

45m xm

Y
Area of lawn = 1911m?
Area of rectangular plot
= 45x 55 = 2475 m?
Area of crossroads
=2475-1911= 564 m°
Let the width of each crossroad = xm
45x + 55x — x° = 564
x?-100x+ 564 = 0
x*-94x+ 6x+564=0
x(x-94)-6(x—-94)=0
(x-6)(x—94)=0
x=1694
[+ 94 is discraded]
i x=6m
. Width of each of the crossroads = 6 m
(a) Let the side of square be x m.
So, length of rectangle is (x + 8)m
and breadth of rectangle is (x — 6) m.
According to the question,
Area of square = Area of rectangle.
xxx=(x+ 8)(x-6)
x°=x%+8x-6x-48
¥ =x+2x-48
2x = 48
x=24m
-.Length of the rectangle =24+ 8= 32 m
Breadth of the rectangle =24- 6 =18m
~ Perimeter of the rectangle = 2(/ + b)

Lu e

=2(32 + 18)
=2(50)m
=100

(e) Let the base of the right angled triangle

be 4x and its height be 5x.

Then, area of the right angled triangle

= axx Sx
2
= 80 = 1 x 20x?
2
= x2=8
= x=242cm
Height = bx
=5x22
= 1042 cm

4.

(a) In ABDE,
DE =28 + 28 = 56cm
BC =28cm

AreaofaBDE:%xDE x BC

=1x56>c28
2

= 7840m?
(b) Area of square = 28 x 28 = 784cm’
Area of four circles = 4nr?
=4x g% xTx7
7

= 616cm?
. Area of shaded region = 784 - 616
= 168cm’
(c) Area of circle = 7 x Circumference
nR?=7x2nR
R=14

- Circumference of circle =2 nR

=2x2?2x14= 88 units .

(c) The number of tiles will be minimum, if
size of each marble is maximum.

Size of each tile = HCF of 3,78 and 5.25m
378)525(1
378
147)378(2
294
84)147(1
84
63)84(1
63
21)63(3
63

X
LHCFof378and525m=021 m
3.78x 5.25 — 450
021x 0.21

(b) Distance covered in 1 revolution

= 1 x diameter = nd
22 x d = 440
B

. Number of tiles =

1000 x
_ 440 x7
" 1000 x 22

(c) Let the length of the rectangle be x m

and breadth be y m.

According to the question,

= =014m

Casel xy-(x-5)(y+3)=9
= ay~-(xy-Sy+ 3r-15)=9
= Sy-3x+15=9
= 3cr-5y-6=0 ..()
Casell (x+ 3)(y+2)-axy=67
= Jy+2x+ 6=67
= 2x+ 3y-61=0 ..

10.

11.

12.

13.

By Egs. (i) x 3 + (i) x 5,
9x - 15y —-18=10
10z + 15y - 305=0

19x = 323
= x=3—23-=1?m
19

~.Length of the rectangle = 17 m
(e) Let the length of rectangle = I m
and breadth of rectangle= b m
Area of the original rectangle = /b

According to the question,
I1x120 b x 80 _ 190
100 100
= 1.2/ x 0.8b =192
:, b=_192
12 x08
= Ib =200 m?

. Area of the original rectangle = 200 m®
(d) 7/

2
2
g{/ﬁ‘/k. oz /,4
Radius of the circular garden

Area of the circle = nr?
=?_}2—x14x14=616m2

Area of the square plot = 28 x 28= 784m?

.. Area of the shaded region
= (784 — 616)m? = 168m?>

(c) Side of a square = i)
= @ =14cm
4
. Smallest side of the right angled triangle
=14-8=6cm
Length of rectangle
it B8
Breadth 8
- Second side of the triangle = 12 - 4
=Bcm

(b) Radius of circle = 22_8 =14cm
Area of circle = nr?
= ?_;2— x 14 x 14 = 616cm?

.~ Area of rectangle = 1166 — 616
= 550cm?

Breadth of rectangle

=@=22cm
25



». Circumference of circle

= n x diameter
-2 4 28=88cm
7
Perimeter of rectangle
= 2(length + breadth)
=2(25+ 22)=94cm
.. Required sum = (88 + 94)cm= 182 cm
14. (a) Foraright angled triangle,

hypotenuse = /6% + 82 = /36 + 64
=+100 =10cm
Largest side=10cm
Side of square = 3 x 10= 30cm
. Diagonal of square = v2 x 30

= 3042 cm

15.

(b) Perimeter of rectangle = 668 cm

2(/ + b)= 668
=2 I+ b=2334
= | =(334 - b)
Length of a rectangle

= Twice the diameter of a circle
334 -b=2xd=2x2r=4r
_334-b
T s
Area of square = Circumference of circle
@272 =2nr
_2x22(334 - b)
- 7x4
- 24— b= 484 x7 x 4
2 x22

= b= 334 - 308 =26¢cm

r

484

= 308

16. (a) Perimeter of square
= 2 x Perimeter of rectangle
=2x2(/+ b)=48+7)=60

Side of square = % =15cm
Diameter of semi-circle = 15cm

.~ Circumference of semi-circle = % +d

=22 . 154+15=3857cm

T7x2




